SOME COMMON FIXED POINT THEOREMS IN MENGER SPACES USING OCCASIONALLY WEAKLY COMPATIBLE MAPPINGS

R. A. Rashwan*, Shimaa I. Moustafa

Department of Mathematics, Faculty of Science, Assiut University, Assiut 71516, Egypt

*Corresponding address: r_rashwan54@yahoo.com Received 13 November, 2012; Revised 31January, 2013

ABSTRACT

In this paper we prove some common fixed point theorems for family of occasionally weakly compatible mappings in Menger space. Also improvement of the results of B. D. Pant and Sunny Chauhan [1] under relaxed conditions is given.

2010 Mathematics Subject Classification: 47H10, 54H25.

Keywords: Triangle function (t-norm); Menger spaces; Common fixed points; Compatible mappings; Weakly compatible mappings; Occasionally weakly compatible mappings.

INTRODUCTION

The concept of probabilistic metric space was first introduced and studied by Menger [2]. It is a probabilistic generalization of metric space in which we assign to any two points x and y, a distribution function $F_{x,y}$. The study of this space was expanded rapidly with the pioneering works of Schweizer and Sklar [3]. Fixed point theory is one of fruitful and effective tools in mathematics which has many applications within as well as outside mathematics. In this theory a contraction is one of the main tools to prove the existence and uniqueness results on fixed points in probabilistic analysis. Jungck [4] proved fixed point theorem for pair of commuting mappings in metric space as a generalization of the well known Banach contraction principle. Sessa [5] generalized this result by using the weaker hypothesis than commutativity called weak commutativity. The concept of weak commutativity in probabilistic settings was first studied by Singh and Pant [6, 7].

Jungck [8] introduced the notion of compatibility. This idea introduced by Mishra [9] in Menger space which has been weakened by appearing the concept of weak compatibility by Jungck and Rhoades [10].

Cho, Sharma and Sahu [11] introduced the concept of semi-compatibility mappings in a d-topological space. Singh and Jain [12] established some fixed point theorems in Menger space using semi-compatibility of the mappings. More recently, Al-Thagafi and Shahzad [13] weakened the concept of compatibility by giving a new notion of occasionally weakly compatible (owc) mappings which is most general among all the commutativity concepts. The notion of occasionally weakly compatible (owc) mappings has become an area of interest for specialists in fixed point theory.

In this paper we obtain some common fixed point theorems for three pairs and family of self mappings under the condition of occasionally weak compatibility (owc) in Menger spaces, we improve and extend the results of Pant and Chauhan [1] and other results on compatible or weakly compatible mappings under relaxed conditions in Menger space. We first give some

preliminaries and definitions.

PRELIMINARIES AND DEFINITIONS

Definition 2.1 [3]: A real valued function f on the set of real numbers is called a distribution function if it is non-decreasing, left continuous with $\inf_{u \in R} f(u) = 0$ and $\sup_{u \in R} f(u) = 1$.

The Heaviside function H is a distribution function defined by

$$H(u) = \begin{cases} 0, & u \le 0 \\ 1, & u > 0. \end{cases}$$

Definition 2.2 [3]: Let X be a non-empty set and let L denote the set of all distribution functions defined on X. An ordered pair (X,F) is called a probabilistic metric space where F is a mapping from $X \times X$ into L if for every pair $(x,y) \in X$ a distribution function $F_{x,y}$ assumed to satisfy the following conditions:

- (1) $F_{x,y}(u) = H(u)$ if and only if x = y;
- (2) $F_{x,y}(u) = F_{y,x}(u)$;
- (3) $F_{xy}(0) = 0$;
- (4) If $F_{x,y}(u_1) = 1$ and $F_{y,z}(u_2) = 1$, then $F_{x,z}(u_1 + u_2) = 1$ for all x, y, z in X and $u_1, u_2 \ge 0$.

Definition 2.3 [3]: A t-norm is a function $t:[0,1]\times[0,1]\to[0,1]$ satisfying the following conditions:

- **(T1)** t(a,1) = a, t(0,0) = 0;
- **(T2)** t(a,b) = t(b,a);
- **(T3)** $t(c,d) \ge t(a,b)$ for $c \ge a, d \ge b$;
- $(\mathbf{T4}) t(t(a,b),c) = t(a,t(b,c))$ for all a,b,c in [0,1].

Definition 2.4 [3]: A Menger probabilistic metric space is an ordered triple (X, F, t), where t is a t-norm, and (X, F) is a probabilistic metric space satisfying the following condition:

$$F_{x,z}(u_1 + u_2) \ge t(F_{x,y}(u_1), F_{y,z}(u_2))$$
 for all x, y, z in X and $u_1, u_2 \ge 0$.

Definition 2.5 [9]: A sequence $\{x_n\}$ in (X, F, t) is said to converge to a point $x \in X$ if for every $\varepsilon > 0$ and $\lambda > 0$, there exists a positive integer $N(\varepsilon, \lambda)$ such that $F_{x_n, x}(\varepsilon) > 1 - \lambda$ for all $n \ge N(\varepsilon, \lambda)$.

Definition 2.6 [9]: A sequence $\{x_n\}$ in (X, F, t) is said to be a Cauchy sequence if for every $\varepsilon > 0$ and $\lambda > 0$, there exists a positive integer $N(\varepsilon, \lambda)$ such that $F_{x_n, x_m}(\varepsilon) > 1 - \lambda$ for all $n, m \ge N(\varepsilon, \lambda)$.

Definition 2.7 [9]: A Menger space (X, F, t) with continuous t-norm is said to be complete if every Cauchy sequence in X converges to a point in X.

Definition 2.8: A coincidence point of two mappings is a point in their domain having the same image point under both mappings.

Formally, given two mappings $f,g:X\to Y$ we say that a point x in X is a coincidence point of f and g if f(x)=g(x).

Definition 2.9 [9]: Two self mappings A and B of a Menger space (X, F, t) are said to be compatible if $F_{ABx_n, BAx_n}(t) \to 1$ for all t > 0, whenever $\{x_n\}$ is a sequence in X such that $Ax_n, Bx_n \to x$ for some x in X as $n \to \infty$.

Definition 2.10 [10]: Two self mappings A and B of a Menger space (X, F, t) are said to be weakly compatible (or coincidentally commuting) if they commute at their coincidence points, i.e., if Ax = Bx for some $x \in X$, then ABx = BAx.

Remark 2.1 [14]: Two compatible self mappings are weakly compatible but the converse is not true. Therefore, the concept of weak compatibility is more general than that of compatibility.

Example 2.1: Let X = R be the set of real numbers. Define $A, B: X \to X$ by

$$A(x) = \begin{cases} 0, & x = -1, \\ x^2, & x \neq -1, \end{cases} \text{ and } B(x) = 2x - 1, \forall x \in X.$$

For any sequence $\{x_n\}$ in X with $Ax_n, Bx_n \to z$ as $n \to \infty$ for some $z \in X$, we find that ABx_n, BAx_n converge to the same point in X, i.e., $\lim_{n \to \infty} F_{ABx_n, BAx_n}(t) = 1$. For example, take

$$x_n = \{\frac{n}{n+1}\}$$
, we can find $Ax_n = (\frac{n}{n+1})^2$, $\lim_{n \to \infty} Ax_n = \lim_{n \to \infty} (\frac{n}{n+1})^2 = \lim_{n \to \infty} (\frac{1}{1+\frac{1}{n}})^2 = 1$,

$$Bx_n = \frac{2n}{n+1} - 1 = \frac{n-1}{n+1},$$
 $\lim_{n \to \infty} Bx_n = \lim_{n \to \infty} \frac{1 - \frac{1}{n}}{1 + \frac{1}{n}} = 1.$ Also, $ABx_n = (\frac{n-1}{n+1})^2$,

$$\lim_{n\to\infty} ABx_n = \lim_{n\to\infty} \left(\frac{1-\frac{1}{n}}{1+\frac{1}{n}}\right)^2 = 1, \ BAx_n = 2\left(\frac{n}{n+1}\right)^2 - 1, \ \lim_{n\to\infty} BAx_n = 2\lim_{n\to\infty} \left(\frac{n}{n+1}\right)^2 - 1 = 1.$$

Therefore, $\lim_{n\to\infty} F_{ABx_n,BAx_n}(t) = F_{1,1}(t) = 1$. Hence, the pair (A,B) is compatible. Also, 1 is the unique coincidence point for A,B and AB(1) = BA(1) then they are weakly compatible.

Definition 2.11 [13]: Self mappings A and B of a Menger space (X, F, t) are said to be occasionally weakly compatible if and only if there exists a point $x \in X$ such that Ax = Bx and ABx = BAx.

Remark 2.2: we can say that A and B are (owc) if there exists a point $x \in X$ such that Ax = Bx and AAx = BAx.

Definition 2.12 [12]: A pair (A, B) of self mappings of a Menger space (X, F, t) is said to be semi-compatible if $F_{ABx_n,Bx}(t) \to 1$ for all t > 0, whenever $\{x_n\}$ is a sequence in X such that $Ax_n, Bx_n \to x$ for some $x \in X$ as $n \to \infty$.

Remark 2.3: In nontrivial case in which there is at least one coincidence point, the concept of occasionally weak compatibility is more general than that of weak compatibility.

Example 2.2: Let X = [0,1]. Define $A, B: X \rightarrow X$ by

$$A(x) = \begin{cases} 1 - x, & 0 \le x \le \frac{1}{2}, \\ \frac{x}{2}, & \frac{1}{2} < x \le 1, \end{cases} \quad and \quad B(x) = \begin{cases} x, & 0 \le x \le \frac{1}{2}, \\ \frac{x}{2}, & \frac{1}{2} < x \le 1. \end{cases}$$

For any $x \in (\frac{1}{2}, 1]$, $ABx = A\frac{x}{2} = 1 - \frac{x}{2}$ and $BAx = B\frac{x}{2} = \frac{x}{2}$. Since, $1 - \frac{x}{2} \neq \frac{x}{2}$ for all $x \in (\frac{1}{2}, 1]$

then A and B are not (wc). Moreover, at $x = \frac{1}{2}$, $A(\frac{1}{2}) = B(\frac{1}{2})$ and $AB(\frac{1}{2}) = BA(\frac{1}{2})$, implies, A and B are (owc).

Lemma 2.1 [9]: Let (X, F, t) be a Menger space. If there exists $k \in (0,1)$ such that:

$$F_{x,y}(kt) \ge F_{x,y}(t)$$

for all $x, y \in X$ and t > 0 then x = y.

MAIN RESULTS

Pant and Chauhan [1] proved the following theorem.

Theorem 3.1: Let A, B, S, T, L and M be self mappings on a complete Menger space (X, F, t)

with continuous t-norm and t defined by $t(a,b) = min\{a,b\}$ for all $a,b \in [0,1]$ and satisfy the following:

- (i) $AB(X) \subset M(X)$ and $ST(X) \subset L(X)$;
- (ii) M(X) and L(X) are complete subspace of X;
- (iii) Either AB or ST is continuous;
- (iv) (AB, L) is semi-compatible and (ST, M) is weakly compatible;
- (v) for all $p, q \in X$, $k \in (0,1)$ and t > 0,

$$F_{ABp,STq}^{3}(kt) \ge \min\{F_{Lp,Mq}^{3}(t), F_{ABp,Lp}^{3}(t), F_{STq,Mq}^{3}(t), F_{ABp,Mq}(2t), F_{STq,Lp}^{2}(2t), F_{STq,Mq}^{2}(t)\}.$$

Then AB, ST, L and M have a unique common fixed point in X.

Motivated by the results of Pant and Chauhan [15] we improve theorem 3.1 .Our improvements are:

- (1) Relaxed the continuity requirement of mappings completely.
- (2) Completeness of the whole space.
- (3) Weakened the concepts of semi-compatibility and weak compatibility by more general concept of occasionally weak compatibility.
- (4) Minimal type contractive condition used.

Theorem 3.2: Let A, B, S, T, L and M be self mappings on a Menger space (X, F, t) with continuous t-norm and t defined by $t(a,b) = min\{a,b\}$ for all $a,b \in [0,1]$ and satisfy the following:

- (a) the pairs $\{AB, L\}$ and $\{ST, M\}$ are (owc);
- **(b)** AB = BA, ST = TS, LB = BL and MT = TM;
- (c) for all $p, q \in X$, $k \in (0,1)$ and t > 0,

$$F_{ABp,STq}^{3}(kt) \ge \min\{F_{Lp,Mq}^{3}(t), F_{ABp,Lp}^{3}(t), F_{STa,Lp}^{3}(t), F_{STa,Lp}(2t)\}.$$

Then A, B, S, T, L and M have a unique common fixed point in X.

Proof: Since (AB, L) is occasionally weakly compatible then there exists a point x in X such that ABx = Lx and ABABx = LABx. Also, as (ST, M) is occasionally weakly compatible then there

exists a point y in X such that STy = My and STSTy = MSTy

Step 1: Putting p = x, q = y in (c), we get:

$$F_{ABx,STy}^{3}(kt) \ge \min\{F_{Lx,My}^{3}(t), F_{ABx,Lx}^{3}(t), F_{STy,My}^{3}(t), F_{ABx,My}^{3}(2t), F_{STy,Lx}^{3}(2t)\},$$

$$\ge \min\{F_{ABx,STy}^{3}(t), 1, 1, F_{ABx,STy}^{3}(2t), F_{STy,ABx}^{3}(2t)\},$$

$$\ge F_{ABx,STy}^{3}(t).$$

By lemma 2.1, we have ABx = STy. Therefore, Lx = ABx = STy = My = z Now, we show that z is a fixed point of AB.

Step 2: Putting p = ABx, q = y in (c), we get:

$$F_{ABABx,STy}^{3}(kt) \ge \min\{F_{LABx,My}^{3}(t), F_{ABABx,LABx}^{3}(t), F_{STy,My}^{3}(t), F_{ABABx,My}^{3}(2t), F_{STy,LABx}^{3}(2t)\},$$

$$\ge \min\{F_{ABABx,STy}^{3}(t), 1, 1, F_{ABABx,STy}^{3}(2t), F_{STy,ABABx}^{3}(2t)\},$$

$$\ge F_{ABABx,STy}^{3}(t).$$

Thus, $F_{ABABx,STy}(kt) \ge F_{ABABx,STy}(t)$, for all t > 0. $\Rightarrow ABABx = STy$. Therefore,

$$z = Lz = ABz. (3.1)$$

Step 3: Putting p = Bz, q = y in (c), we get:

$$F_{ABBz,STy}^{3}(kt) \ge \min\{F_{LBz,My}^{3}(t), F_{ABBz,LBz}^{3}(t), F_{STy,My}^{3}(t), F_{ABBz,My}^{3}(2t), F_{STy,LBz}^{3}(2t)\}.$$

As LB = BL and AB = BA, so L(Bz) = B(Lz) = Bz and ABBz = B(ABz) = Bz. Hence,

$$F^3_{Bz,z}(kt) \ge F^3_{Bz,z}(t)$$
 for all $t > 0$

Since ABz = z and Bz = z, then Az = z. Thus,

$$z = Lz = Az = Bz. (3.2)$$

Similarly, using the fact that the pair (ST, M) is (owc) then STz = STSTy = MSTy = Mz. Now, we show that z is a fixed point of ST.

Step 4: Putting p = z, q = STy in (c), we get:

$$F_{ABz,STSTy}^{3}(kt) \ge \min\{F_{Lz,MSTy}^{3}(t), F_{ABz,Lz}^{3}(t), F_{STSTy,MSTy}^{3}(t), F_{ABz,MSTy}^{3}(2t), F_{STSTy,Lz}^{3}(2t)\},$$

$$F_{z,STz}^{3} \ge \min\{F_{z,STz}^{3}(t),1,1,F_{z,STz}(2t),F_{STz,z}(2t)\},$$

$$\ge F_{z,STz}^{3}(t).$$

Thus, $F_{z,STz}(kt) \ge F_{z,STz}(t)$, for all t > 0. $\Rightarrow z = STz$. Therefore,

$$z = Mz = STz. (3.3)$$

Step 5: Putting p = z, q = Tz in (c), we get:

$$F_{ABz,STTz}^{3}(kt) \ge \min\{F_{Lz,MTz}^{3}(t), F_{ABz,Lz}^{3}(t), F_{STTz,MTz}^{3}(t), F_{ABz,MTz}^{3}(2t), F_{STTzy,Lz}^{3}(2t)\}.$$

As MT = TM and ST = TS, so M(Tz) = T(Mz) = Tz and STTz = T(STz) = Tz. Hence,

 $F_{z,Tz}^3(kt) \ge F_{z,Tz}^3(t)$ for all t > 0,

Since STz = z and Tz = z, then Sz = z. Thus,

$$z = Mz = Sz = Tz. (3.4)$$

Step 6(uniqueness): Let w be another fixed point of the six mappings, then Aw = Bw = Lw = Mw = Tw = Sw = w.

Putting p = z and q = w in (c), to obtain:

$$F_{ABz,STw}^{3}(kt) \ge \min\{F_{Lz,Mw}^{3}(t), F_{ABz,Lz}^{3}(t), F_{STw,Mw}^{3}(t), F_{ABz,Mw}(2t), F_{STw,Lz}(2t)\},$$

$$F_{z,w}^{3}(kt) \ge \min\{F_{z,w}^{3}(t), F_{z,z}^{3}(t), F_{w,w}^{3}(t), F_{z,w}^{3}(2t)\},$$

$$\ge \min\{F_{z,w}^{3}(t), 1, 1, F_{z,w}(2t), F_{w,z}(2t)\},$$

$$\ge F_{z,w}^{3}(t).$$

Thus, $F_{z,w}(kt) \ge F_{z,w}(t)$ for all t > 0 then z = w and z is a unique common fixed point of the six mappings.

As a generalization of theorem 3.2, we prove the following result for a finite family of self mappings.

Theorem 3.3: Let $P_1, P_2,...,P_n,..., P_{2n}$ be self mappings on a Menger space (X,F,t) with continuous t-norm, $t(a,b) = min\{a,b\}$ for all $a,b \in [0,1]$ and satisfy the following:

(a) the pairs $\{P_3P_5...P_{2n-1}, P_1\}$ and $\{P_4P_6...P_{2n}, P_2\}$ are (owc);

(b)
$$P_3(P_5...P_{2n-1}) = (P_5...P_{2n-1})P_3,$$

$$P_3P_5(P_7...P_{2n-1}) = (P_7...P_{2n-1})P_3P_5,$$

.

$$P_3P_5...P_{2n-3}(P_{2n-1}) = (P_{2n-1})P_3P_5...P_{2n-3}$$

$$P_1(P_5...P_{2n-1}) = (P_5...P_{2n-1})P_1,$$

$$P_1(P_7...P_{2n-1}) = (P_7...P_{2n-1})P_1,$$

 $\begin{array}{l} \vdots \\ \vdots \\ P_1P_{2n-1} = P_{2n-1}P_1, \\ P_4(P_6...P_{2n}) = (P_6...P_{2n})P_4, \\ P_4P_6(P_8...P_{2n}) = (P_8...P_{2n})P_4P_6, \\ \vdots \\ \vdots \\ P_4P_6...P_{2n-2}(P_{2n}) = (P_{2n})P_4P_6...P_{2n}, \\ P_2(P_6...P_{2n}) = (P_6...P_{2n})P_2, \\ \vdots \\ \vdots \\ P_2P_{2n} = P_{2n}P_2, \\ \textbf{(c)} \quad \text{for} \quad \text{all} \quad p,q \in X \quad , \quad k \in (0,1) \quad \text{and} \quad t > 0 \, , \\ F^3_{P_3P_5...P_{2n-1}P.P_4P_6...P_{2n}q}(kt) \geq \min\{F^3_{P_1P.P_2q}(t), \\ F^3_{P_3P_5...P_{2n-1}P.P_1P}(t), F^3_{P_4P_6...P_{2n}q.P_2P}(t), \\ F^3_{P_3P_5...P_{2n-1}P.P_2P}(2t), F^3_{P_4P_6...P_{2n}q.P_1P}(2t)\}. \end{array}$

Then $P_1,...P_{2n}$ have a unique common fixed point in X.

Proof: Since $(P_3...P_{2n-1}, P_1)$ is occasionally weakly compatible then there exists a point x in X such that: $P_3...P_{2n-1}x = P_1x$ and $P_3...P_{2n-1}P_3...P_{2n-1}x = P_1P_3P_5...P_{2n-1}x$. Also, as $(P_4...P_{2n}, P_2)$ is occasionally weakly compatible then there exists a point y in X such that:

$$P_4...P_{2n}y = P_2y$$
 and $P_4...P_{2n}P_4...P_{2n}y = P_2P_4...P_{2n}y$.

Step 1: Putting p = x, q = y in (c), we get:

$$\begin{split} F^{3}_{P_{3}\dots P_{2n-1}^{x},P_{4}\dots P_{2n}^{y}}(kt) &\geq \min\{F^{3}_{P_{1}^{x},P_{2}^{y}}(t),F^{3}_{P_{3}\dots P_{2n-1}^{x},P_{1}^{x}}(t),\\ F^{3}_{P_{4}\dots P_{2n}^{y},P_{2}^{y}}(t),F_{P_{3}\dots P_{2n-1}^{x},P_{2}^{y}}(2t),F_{P_{4}\dots P_{2n}^{y},P_{1}^{x}}(2t)\},\\ &\geq \min\{F^{3}_{P_{3}\dots P_{2n-1}^{x},P_{4}\dots P_{2n}^{y}}(t),1,1,\\ F_{P_{3}\dots P_{2n-1}^{x},P_{4}\dots P_{2n}^{y}}(2t),F_{P_{4}\dots P_{2n}^{y},P_{3}\dots P_{2n-1}^{x}}(2t)\},\\ &\geq F^{3}_{P_{3}\dots P_{2n-1}^{x},P_{4}\dots P_{2n}^{y}}(t). \end{split}$$

Hence by lemma (2.1), we have $P_3...P_{2n-1}x = P_4...P_{2n}y$. Therefore, $P_1x = P_3...P_{2n-1}x = P_4...P_{2n}y = P_2y = z$ Now, we show that z is a fixed point of $P_3...P_{2n-1}$.

Step 2. Putting $p = P_3...P_{2n-1}x$, q = y in (c), we get:

$$\begin{split} F^{3}_{P_{3}\dots P_{2n-1}P_{3}\dots P_{2n-1}^{x},P_{4}\dots P_{2n}^{y}}(kt) &\geq \min\{F^{3}_{P_{1}P_{3}\dots P_{2n-1}^{x},P_{2}^{y}}(t),\\ F^{3}_{P_{3}\dots P_{2n-1}P_{3}\dots P_{2n-1}^{x},P_{1}P_{3}\dots P_{2n-1}^{x}}(t),F^{3}_{P_{4}\dots P_{2n}^{y},P_{2}^{y}}(t),\\ F_{P_{3}\dots P_{2n-1}P_{3}\dots P_{2n-1}^{x},P_{2}^{y}}(2t),F_{P_{4}\dots P_{2n}^{y},P_{1}P_{3}\dots P_{2n-1}^{x}}(2t)\},\\ &\geq \min\{F^{3}_{P_{3}\dots P_{2n-1}P_{3}\dots P_{2n-1}^{x},P_{4}\dots P_{2n}^{y}}(t),1,1,\\ F_{P_{3}\dots P_{2n-1}P_{3}\dots P_{2n-1}^{x},P_{4}\dots P_{2n}^{y}}(2t),F_{P_{4}\dots P_{2n}^{y},P_{3}\dots P_{2n-1}P_{3}\dots P_{2n-1}^{x}}(2t)\},\\ &\geq F^{3}_{P_{3}\dots P_{2n-1}P_{3}\dots P_{2n-1}^{x},P_{4}\dots P_{2n}^{y}}(t). \end{split}$$

Thus, $F_{P_3...P_{2n-1}P_3...P_{2n-1}x,P_4...P_{2n}y}(kt) \ge F_{P_3...P_{2n-1}P_3...P_{2n-1}x,P_4...P_{2n}y}(t)$,

for all
$$t > 0 \implies P_3...P_{2n-1}P_3...P_{2n-1}x = P_4...P_{2n}y$$
. Therefore,
 $z = P_1z = P_3...P_{2n-1}z$. (3.5)

Step 3: Putting $p = P_5...P_{2n-1}z$, q = y in (c), we get:

$$\begin{split} F^{3}_{P_{3}\dots P_{2n-1}P_{5}\dots P_{2n-1}z,P_{4}\dots P_{2n}y}(kt) &\geq \min\{F^{3}_{P_{1}P_{5}\dots P_{2n-1}z,P_{2}y}(t),\\ F^{3}_{P_{3}\dots P_{2n-1}P_{5}\dots P_{2n-1}z,P_{1}P_{5}\dots P_{2n-1}z}(t),F^{3}_{P_{4}\dots P_{2n}y,P_{2}y}(t),\\ F_{P_{3}\dots P_{2n-1}P_{5}\dots P_{2n-1}z,P_{2}y}(2t),F_{P_{4}\dots P_{2n}y,P_{1}P_{5}\dots P_{2n-1}z}(2t)\}. \end{split}$$

As
$$P_1(P_5...P_{2n-1}) = (P_5...P_{2n-1})P_1$$
 and $P_3(P_5...P_{2n-1}) = (P_5...P_{2n-1})P_3$,
so $P_1(P_5...P_{2n-1})z = (P_5...P_{2n-1})P_1z = P_5...P_{2n-1}z$
and $P_3P_5...P_{2n-1}P_5...P_{2n-1}z = P_5...P_{2n-1}(P_3...P_{2n-1}z) = P_5...P_{2n-1}z$. Hence,
 $F^3_{P_5...P_{2n-1}z,z}(kt) \ge F^3_{P_5...P_{2n-1}z,z}(t)$ for all $t > 0$.

Since $P_3P_5...P_{2n-1}z=z$ and $P_5...P_{2n-1}z=z$, then $P_3z=z$. Thus, $z=P_1z=P_3z=P_5...P_{2n-1}z$. Continuing this procedure, we obtain

$$z = P_1 z = P_3 z = P_5 z = \dots = P_{2n-1} z$$
. (3.6)

Similarly, using the fact that $P_4...P_{2n}z = P_4...P_{2n}P_4...P_{2n}y = P_2P_4...P_{2n}y = P_2z$. Now, we show that z is a fixed point of $P_4...P_{2n}$.

Step 4: Putting p = z, $q = P_4...P_{2n}y$ in (c), we get:

$$\begin{split} F^{3}_{P_{3}\dots P_{2n-1}^{z},P_{4}\dots P_{2n}^{y}}(kt) &\geq \min\{F^{3}_{P_{1}^{z},P_{2}^{y}P_{4}\dots P_{2n}^{y}}(t),\\ F^{3}_{P_{3}\dots P_{2n-1}^{z},P_{1}^{z}}(t),F^{3}_{P_{4}\dots P_{2n}^{y}P_{4}\dots P_{2n}^{y},P_{2}^{y}P_{4}\dots P_{2n}^{y}}(t),\\ F_{P_{3}\dots P_{2n-1}^{z},P_{2}^{y}P_{4}\dots P_{2n}^{y}}(2t),F_{P_{4}\dots P_{2n}^{y}P_{4}\dots P_{2n}^{y},P_{1}^{z}}(2t)\},\\ F^{3}_{z,P_{4}\dots P_{2n}^{z}} &\geq \min\{F^{3}_{z,P_{4}\dots P_{2n}^{z}}(t),1,1,\\ F_{z,P_{4}\dots P_{2n}^{z}}(2t),F_{P_{4}\dots P_{2n}^{z},z}(2t)\},\\ &\geq F^{3}_{z,P_{4}\dots P_{2n}^{z}}(t). \end{split}$$

Thus,
$$F_{z,P_4...P_{2n}z}(kt) \ge F_{z,P_4...P_{2n}z}(t)$$
, for all $t > 0$. $\Rightarrow z = P_4...P_{2n}z$. Therefore, $z = P_2 z = P_4...P_{2n}z$. (3.7)

Step 5: Putting
$$p = z$$
, $q = P_6...P_{2n}z$ in (c), we get:

$$\begin{split} F^{3}_{P_{3}\dots P_{2n-1}^{z},P_{4}\dots P_{2n}P_{6}\dots P_{2n}^{z}}(kt) &\geq \min\{F^{3}_{P_{1}^{z},P_{2}^{p}_{6}\dots P_{2n}^{z}}(t),\\ &F^{3}_{P_{3}\dots P_{2n-1}^{z},P_{1}^{z}}(t),F^{3}_{P_{4}\dots P_{2n}P_{6}\dots P_{2n}^{z},P_{2}^{p}_{6}\dots P_{2n}^{z}}(t), \quad \text{As} \quad P_{2}(P_{6}\dots P_{2n}) &= (P_{6}\dots P_{2n})P_{2n}P$$

and $P_4(P_6...P_{2n}) = (P_6...P_{2n})P_4$,

so
$$P_2(P_6...P_{2n}z) = P_6...P_{2n}(P_2z) = P_6...P_{2n}z$$

and
$$P_4...P_{2n}P_6...P_2 = P_6...P_{2n}(P_4...P_{2n}z) = P_6...P_{2n}z$$
. Hence,

$$F_{z,P_6...P_{2n}z}^3(kt) \ge F_{z,P_6...P_{2n}z}^3(t) for \ all \ t > 0.$$

Since
$$P_4...P_{2n}z = z$$
 and $P_6...P_{2n}z = z$, then $P_4z = z$. Thus, $z = P_2z = P_4z = P_6...P_{2n}z$.

Continuing this procedure, we obtain

$$z = P_2 z = P_4 z = P_6 = \dots = P_{2n} z.$$
 (3.8)

Step 6(uniqueness): Let w be another fixed point of these family, then $P_1w = P_2w = ... = P_nw = w$.

Putting P = z and q = w in (c), to obtain:

$$F_{P_{3}\dots P_{2n-1}^{z}, P_{4}\dots P_{2n^{w}}}^{3}(kt) \ge \min\{F_{P_{1}^{z}, P_{2}^{w}}^{3}(t), F_{P_{3}\dots P_{2n-1}^{z}, P_{1}^{z}}^{3}(t), F_{P_{4}\dots P_{2n^{w}}, P_{1}^{z}}^{3}(2t)\},$$

$$F_{z,w}^{3}(kt) \ge \min\{F_{z,w}^{3}(t), F_{z,z}^{3}(t), F_{w,w}^{3}(t), F_{z,w}^{3}(2t), F_{w,z}(2t)\},$$

$$\ge F_{z,w}^{3}(t).$$

Thus, $F_{z,w}(kt) \ge F_{z,w}(t)$ for all t > 0. then z = w and z is a unique common fixed point of the family of mappings.

ACKNOWLEDGEMENT

The authors would like to thank the referees for their valuable comments and suggestions which have led to the better presentation of the paper.

REFERENCES

- [1] Pant B D & Chauhan S, Fixed point theorems in Menger space using semi-compatibility, *International Journal of Contemporary Mathematical Sciences*, 5(19) (2010) 943.
- [2] Menger K, Statistical metrics, *Proceedings of the National Academyof Sciences of the United States of America*, 28(12) (1942) 535.
- [3] Schweizer B & Sklar A, Probabilistic metric spaces, *Elsevier, North-Holland, New York*, 1983.
- [4] Jungck G, Commuting mappings and fixed points, *American Mathematical Monthly*, 83 (1976) 261.

- [5] Sessa S, On a weak commutativity condition of mappings in fixed point considerations, *Publications de l'Institut Mathematique (Beograd) (N.S.)*, 32(1982) 149.
- [6] Singh S L & Pant B D, Common fixed points of weakly commuting mappings on non-Archimedean Menger spaces, *Vikram Mathematical Journal*, 6 (1986) 27.
- [7] Singh S L, Pant B D & Talwar R, Fixed points of weakly commuting mappings on Menger spaces, $J^{\tilde{n}}$ $\tilde{a}n\tilde{a}bha$., 23(1993) 115.
- [8] Jungck G, Compatible mappings and common fixed points, *International Journal of Mathematics and Mathematical Sciences*, 9(4) (1986) 771.
- [9] Mishra S N, Common fixed points of compatible mappings in PM-spaces, *Mathematica Japonica*, 36(2) (1991) 283.
- [10] Jungck G & Rhoades B E, Fixed Points for set valued functions without continuity, *Indian Journal of Pure Applied Mathematics*, 29(3)(1998) 227.
- [11] Cho Y J, Sharma B K & Sahu D R, Semi compatibility and fixed points, *Mathematica Japonica*, 42(1) (1995) 91.
- [12] Singh B & Jain S, Semi-compatibility and fixed point theorems in Menger space, *Journal of Chungcheong Mathematical Society*, 17(1) (2004) 1.
- [13] Al-Thagafi M A, Shahzad N, Generalized I-nonexpansive selfmappings and invariant approximations, *Acta Mathematica Sinica*, *English Series*, 24(5) (2008)867.
- [14] Singh B & Jain S, A fixed point theorem in Menger Space through weak compatibility, *Journal of Mathematical Analysis and Applications*, 301(2) (2005) 439.
- [15] Pant B D & Chauhan S, Fixed point theorems for occasionally weakly compatible mappings in Menger spaces, *Available online* 10.09.2011.